ggbbobouogoobbodao

00 0.1 (Bernstein). g: A—-AO0000000 g(A)cBCAODO
00000 BOODOO AD BOODOODOO fOODODO

1. ogoboboooobo

A0D00DO0OOOOOOOOOOO0ADDOD(DO0O0) 000000
g(r)=y0000y0 :000000000000002z0 yOOO
00000000000

¢000000000000000000000

(0D01) A0DDDOOOOOOOODOODDOOOOO
gUoobbooooboboboooobobogo
(002 A000D000O0O0OOOOOOOODOOOOO

0000000000000 000000000
rOo0ooogooboog... 00000000
rO0o0oooogooboog... b 0000000
xr000000ooboooobn . 000ooogn
gogoboboboboodooooooboboobobobobobbood
Oooooob0 pO0b0O0OO0bOoOooboooog,

(003) 000000 00000

OO0000OoO00bObOOO0 AQDOoUOOOoDoOoUoobooboooDood
O A000DO0OO0

(00 1) 000000000000000 ADODOOOOOO
(002)0000000000000000000000

(003) 00000 (000000000)000000000
(004) 0000000000000000000000000
(005 000000000000000000000000

(OO0 HooO (Do 3)0DooooOOoUoooooooOoUooooo
gobboobooboboboodogoooooobobobbbooddodde d
000000000 f(x)0DOOOOf0O A0 BOODOOOOOOO
Doobooboobod



2 gboboooooooboobo

(0)(ooDoo0000D000000000000000)
000 AOO0O 0000000000 00OOO

() 200000000 OOOOOO
x0000000000000000000000OO (0O
00 0)000000000000O0OOOO0OO
(2) 000000000000 0ODOO0OO0OOOOOOOOOO
gboobd 0000000000000 oboon
rO00000obobuooobbobooobbbooobood
goboboooobboogobobod
() 200000000 OOOODOOOO
xr000gobooooobbooobbboonooboobod
gbooobgg
(b 200000000000 DOOOOOOO
rUdbogbuodboobobbobboobudoboadoog
ggog
*JO0000000000000o0o0ooo0oooUoooouoo
ggooogoooboboboobbobbododooooobobooboobooga
ggodobobobbotoooooobobobboooa



gboboooooooboobo 3

2. 0000o0on
gboobooboobooboobooo

00 21. <000 SO000ODOO0O0ODOOODOOODOOOOOOoOGg
gooogo

(1) Ve eS (x=<ux)

(2) Va,y,z€ S (z<yandy<z = z<2)

AODODOOODOODOODOODOODOOO
r<y < (IneN g¢"(x)=y)

r<y000y020000000000000D0
AO00000 ~0O0

r~y & (x<yory<u1)

0oooooo
r~y OO0 y0O 000000 0OO0ODOOOO
00000000AO0D0D000000000OOO0O0O00000
000 A,000 A00 BOOOO 000000 GOOOOO

000000000000000

Casel: A, 0000000000
000000 Ay=g(4,)CcBOOOO

fla, =1id, G|a, =id.
gogoooog
Case 1. A, OODOODODOODOO
goooob z, 00000
g*(zy) (n=0,1,2,...)000000000
00000 (Ay,g) = (N,+1) 000000
B> g(A)0O0D0D0Og"(xy) €B (n=1,2,3,...).
ryeBOODOOOODODDODOOOOODODODOOoOoooO
Case II-1). zy e BOO OO
B> A 0000
O00O0OCase I ODOO0O

fla, =id, G|a, =1id.

gboooboogg
Case II-2). z, ¢ BOO OO
O000000A, O A\NBOOOOOOOOOOA, O A,NB 0
goboboooobobbooooobobogad
gZAAH(A)\ﬂB)

Oooobooooooooogo eyooogo



4 gboboooooooboobo

fla, = 9,Gla, = ha.

goooogd

gopoooboobooogoooobooboooobogoooggn
Odoogoooooouoooboogoogoogooouobog
oggo

gooooooooooooouoooouobooguoobo

X=A\BODOODO

X0 000000000000000000000

w=A\(Jgx)

J=0

goooo

g: [i]gj)( — Ejgﬁ)(
j=0 j=1

gboooboogd

A= [i]gj)(leVV

J=0

B=|Jgdxuw
7j=1
O0000AD BOOOODOOOOOOOO
00000000000000 (000000MO00000000
000000)0000000000000000000000000
00ooo0ooooog

3. 00

gogobboobobooooooobbobbooooobbobooboogd
goobooooooo

(1) ADODOD0O0D0O0D0O0O0O0OUD ADODODOOODOOoOoooO
gbgboodgooboboobobobobogobaobod
gbgbodbooboobobboobobobobuooboban

(2) 00000000000 DOODODOOCOOOOOOO0OOoOooO
gobbooobbboogbbbuoooooobboood
O00o0ooo@ooooooo..)



